)
O

I
8~

B3

‘ tan 55° =




0°<x<90° 4o, Bs F &2 227

@05cosx§1 @ 0<sinx<1 ® 0<tanx<1

@ -1<tanx<0 ® -1<sinx<1

0°<x<90° Y 0<sinx<1,0<cosx<1,tanx>0




N

NoHe r2 O my

1017} 10m 91 Abete]7h o2& Z1l 3t

o] B A4 gt Atrkeiet AW
o|F& 7+ A 7|7k 62° A o, A
O 2 HE Attt 7t g 37k 9
o] & Wh&§lsto] & A A7t
T3t (F, sin62° = 0.8829,
os 62° = 0.4695, tan 62° = 1.8807)

[
H -

=

>
> Hgh: 88m

(=°]) = 10sin62° = 10 X 0.8829 = 8.8 (m)




4.

(C 7} AZEQl A ZH47vg ABC oA AB =2, BC =12 & o,

® —% @-”4‘/5
@_1+42\/§ @_ﬂ

AC— VP-T =3

(sin B+ cosB) (sinA — 1) =




S AZMAZEY ABC oA A =34° 4
o, =o] BC & FotH? (H, sin34° =

C
0.5592, cos34° = 0.8290 )

)

@ 20.141 ¢m @ 21.523cm
@22.368cm ® 23.694 cm
® 24.194cm

BC
in34° = —
sin 0

- BC =40 x 0.5592 = 22.368 (cm)




6. o 1ol AHO ZolE oteiet

>
>
> & (1)2(V3+1)
>

HEHD (20443

(1) AH = x 2} 5t9
AABHO|A /BAH = 60°°0| 2 &
BH = xtan60° = V3x
AACHOA /CAH = 45°0| 2 &
CH = xtan45° = x
BC=BH-CHo|E&
4=3x—x,4=(V3-1)x

7 =2+

(2) AH = x2} 5tH
AABHO||A /BAH = 60°°]|B&
BH = xtan60° = V3x
AACHOIA /CAH = 30°°| 22

CH = xtan30° = \/?gx

Lx=4X

BC=BH-CHo|E&
2
8 = Vgx—\/?gx,SzT\/gx

3
L x=8x——=4V3
2v3




08 A4 AB = ¢ 0 ¢ 7201

= C
/AOC = 120° , /ADC = 90° , AO =
12cm € o], AAOC 9] Yo]&?
120°

A 55 B
D 12V3cm? @ 24V3cm? 12 cm
@36 V3cm? @ 48+/3cm?
® 60V3cm?

B ,

(‘sﬂ°1):%xmxc_D

CD = 125in60° = 6 V3

C

L\,
N




=

the 285} Zo] WA E2] 2o} 10cm 2 Yol sk Bue)

Kol Fotofet,

D 200 cm? @200 V2 cm? ® 200 V3 cm?
@ 2022 cm? ® 2023 cm?

~&B ~

360° + 8 = 45°

(AAOH ©] lo])= % % 10 X 10 X sin 45 “0| 2.2

_ 1 2
(AmzIR o] Hol) §xloxlox§x8

=200 V2 (cm?)




